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HMEE
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sS=330
Fek AW A5 U HEY ALY
eI EERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OF= =40 S0ISHal B 1,000
AMNdaE AtZelXHZ X3 351,000 441,873 290,873
) 117,000
& 39,000
Al 195,000
301 EtE NS 361,000 441,873 290,873
Jl 117,000
< 39,000
Al 195,000
14 JIEt2 = 351,000 441,873 290,873
OZAZ AML2IX HZESSH X2 (Luret
Xl) 361,000
Il 117,000
== 39,000
Al 195,000
SHAZEE AMLelXHZE X2 1,188,000 1,159,914 28,086
Il 660,000
== 132,000
Al 396,000
301 2= 1,183,000 1,159,914 28,086
Jl 660,000
= 132,000
Al 396,000
14 0Bt 2a3 1,188,000 1,159,914 28,086
OZAIE AHelXl ME2SH X (d2d
X) 1,188,000
7l 660,000
= 132,000
Al 396,000
ANz B2 SSH X2 275,400 646,292 A370,892
Jl 153,000
= 30,600
Al 91,800
301 EetE2 N = 275,400 646,292 A370,892
Il 153,000
= 30,600
Al 91,800
14 DBt 2 a=S 275,400 646,292 A370,892
OZX Az d2HX SESS MZdl XA 275,400
) 153,000
& 30,600
Al 91,800
SHXEEE EHH X2 564,000 418,800 145,200




2A: =S
B E4 AW A5 U YA
ol sd2d ESE=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| 282,000
Al 282,000
402 QI2E X201 ™ 564,000 418,800 145,200
| 282,000
Al 282,000
03 I+ Er AL I 564,000 418,800 145,200
O=MZEZEX EIBIXA 564,000
J| 282,000
Al 282,000
IAIZMAE SR X2 9,000 16,838 AT7,838
| 9,000
402 QI X201 ™ 9,000 16,838 A7,838
J| 9,000
03 Q12+ ErALA I 9,000 16,838 A7,838
OZAIZ THEHE S X2 (Y BHEXI) 9,000
| 9,000
dEHAELdE S22 XA 58,000 70,290 A12,290
| 58,000
402 QI2E X201 A 58,000 70,290 A12,290
J| 58,000
03 QI+ ErAA I 58,000 70,290 A12,290
O=MNZE HMEBEX =48 S22 K 58,000
| 58,000
IAME M2EHX] LL2S0SHl XA 16,000 0 16,000
| 10,000
Al 6,000
307 212+01 A 16,000 0 16,000
| 10,000
Al 6,000
02 QIZtBAAIE E R 16,000 0 16,000
O=ANg MZBEX L2S0HEH| X 16,000
J| 10,000
Al 6,000
IAEBE 2| XA 20,000 24,262 N4,262
| 10,000
Al 10,000
101 214 d| 19,500 23,262 A3, 762
| 9,750
Al 9,750
M IIRHNZ2Z2 RS2+ 19,500 23,262 A3,762
O=NE SES=dAE 212l 19,500
| 9,750
Al 9,750




2N S2FHY
B E4 AW A5 U YA
Chol: EpH (Hol: &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
201 LB-2AH| 500 1,000 AB500
| 250
Al 250
01 AtR2telt] 500 1,000 A500
OZAE SES= LA AR 22| 500
J| 250
Al 250
IAIE MAD|BE EH= 141,500 129,244 12,256
= 31,950
Al 109,550
301 LetEHZ 119,000 106,744 12,256
= 25,200
Al 93,800
14 J|EI2 A3 119,000 106,744 12,256
OZAz MatEddag NJ 84,000
& 25,200
Al 58,800
O=AMZE SFH| NJAY 35,000
402 QI2HXt=01H 22,500 22,500 0
= 6,750
Al 15,750
02 QIZEXHE A 2 (01 THE) 22,500 22,500 0
OAtZ XOHHE EHIXIE At 22,500
& 6,750
Al 15,750
SASIH AIZZZoHE X 49,346 32,884 16,462
T 14,804
Al 34,542
307 212+01™ 49,346 32,884 16,462
& 14,804
Al 34,542
02 QIZHBAAIEER 49,346 32,884 16,462
OF4&sIt A2ZIHE XA 49,346
= 14,804
Al 34,542
S SO 172,340 194,740 222,400
J| 74,010
= 24,530
Al 73,800
307 212+01 A 172,340 194,740 222,400
| 74,010
& 24,530
Al 73,800




2N S2FHY
B E4 AW A5 U YA
ool EMHE (Shol: &2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 172,340 194,740 N22,400
Ostd s0tde X 172,340
Jl 74,010
< 24,530
Al 73,800
Sits0t IR 245,900 230,900 15,000
= 79,880
Al 166,020
301 EtE N = 1,600 2,400 A800
S 480
Al 1,120
14 0Bt 243 1,600 2,400 A800
Ozlatd set= IS A 1,600
s 480
Al 1,120
307 elztol & 62,300 62,500 A200
S 24,800
Al 37,500
05 2IMRIE =3 62,300 62,500 A200
OJI=Mol 2 sefg3 XS (=Y
AR 62,300
= 24,800
Al 37,500
402 2I2F X201 & 182,000 166,000 16,000
< 54,600
Al 127,400
02 QI IH2AILEE (01X THE) 136,000 146,000 10,000
O=F4t JITHH K& A 8,000
S 2,400
Al 5,600
Ot SZ2Ey N3AY 5,000
= 1,500
Al 3,500
O=ZUHl Jt=AtsEE e 30,000
< 9,000
Al 21,000
OLNZE 2SI X&H 62,000
= 18,600
Al 43,400
OgdssIt 2datEl Xd 6,000
=S 1,800
Al 4,200
OZSAEYA2SHA 15,000
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2N S2FHY
B E4 AW A5 U YA
ool EMHE (Shol: &2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 AL 2 EH 263 (XL E) 503,731 636, 150 132,419
OgtuezaA U 503,731
= 151,119
Al 362,612
307 @20l & 754,587 1,331,750 A577,163
Il 452,752
= 75,459
Al 226,376
05 212t =S 754,587 1,331,750 Ab77,163
OstuRR SAAY 754,587
) 452,752
= 75,459
Al 226,376
SENE SN (ST BR=) (ME 22,500 27,000 24,500
Ae)
= 18,900
Al 3,600
402 2I2F X201 & 22,500 27,000 4,500
== 18,900
Al 3,600
02 QI EASEX(0IETHR) 22,500 27,000 24,500
Ozt BLF UM B E ALY 22,500
< 18,900
Al 3,600
SENE S X2 (SASTHATAIA) (M EA 8,000 12,800 24,800
2)
= 4,960
Al 3,040
402 2I2F X201 & 8,000 12,800 4,800
== 4,960
Al 3,040
02 BIINEASEX(0IETHR) 8,000 12,800 24,800
OFAteH SHEAIAY K& 8,000
< 4,960
Al 3,040
SEN SN (SS LT YSYS}) (HEALY) 2,500 0 2,500
= 2,100
Al 400
402 2I2FX=01 & 2,500 0 2,500
S 2,100
Al 400
02 QI A2AIS 2R (0IETHE) 2,500 0 2,500
O=84 38 LAt 2,500




2N S2FHY
T SN AWA 23 Y IIHSAMNY
&l o H EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 2,100
Al 400
REZE IIBRS A (HEAIY) 35,000 14,000 21,000
& 25,000
Al 10,000
402 QI X201 35,000 14,000 21,000
T 25,000
Al 10,000
02 QI EAEEE(OIMTHE) 35,000 14,000 21,000
osE2s IIess X 35,000
= 25,000
Al 10,000
SMER ARG A 114,000 115,380 21,380
402 QI X201 ™ 114,000 115,380 1,380
01 QIR AL B (KERITHE ) 114,000 115,380 1,380
OXHA S HEY| aZEH XI& 19,000
O4ER Edlg MHe(SY, &AH) X 95,000
IIEER EHIAEH] XI& 50,000 76,000 A26,000
| 10,000
& 5,000
Al 35,000
307 212+01™ 50,000 76,000 226,000
| 10,000
& 5,000
Al 35,000
02 QIZHAAAIEE R 50,000 76,000 A26,000
OJts2% 01E=&8H] XI& 20,000
J| 10,000
= 5,000
Al 5,000
OJEE25L 0IB=8H| XA (FEILRAM) 30,000
AFHZ Q=R AIE K& 28,000 28,000 0
T 8,400
Al 19,600
402 QIZH X201 ™ 28,000 28,000 0
T 8,400
Al 19,600
02 QIZEXHE A 2= (01 THE) 28,000 28,000 0
OAFMZ HHZRAIE K& 28,000
= 8,400
Al 19,600
€5l €S8 XA 15,000 15,000 0
& 4,500




2N S2FHY
B E4 AW A5 U YA
Chol: EpH (Hol: &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 10,500
307 gl2tol & 15,000 15,000 0
=S 4,500
Al 10,500
02 QB AANSEER 15,000 15,000 0
O&EHlI €558 XA 15,000
& 4,500
Al 10,500
S4HEE HE AR (K2 HI) 8,000 16,000 A8,000
= 2,400
Al 5,600
307 el2tol & 8,000 16,000 /8,000
= 2,400
Al 5,600
02 QItASAIEE X 8,000 16,000 A8,000
O=AHErE HEAI (M2 ) 8,000
== 2,400
Al 5,600
SMSZNE NEXEAY 2,550 0 2,550
= 765
Al 1,785
307 elztol & 2,550 0 2,550
= 765
Al 1,785
02 2B YAIHE £ 2,550 0 2,550
OF¢atdied N=XEHAE 2,550
= 765
Al 1,785
HHIMEE DESAX MAHAS 10,500 10,500 0
[ 3,150
Al 7,350
402 QI2F X201 & 10,500 10,500 0
= 3,150
Al 7,350
02 QI X2 AL EE(OIETHE) 10,500 10,500 0
OMUHIMEE DRSHX MAHAL (EH]) 7,000
= 2,100
Al 4,900
OUHIMEE DRSHX MAHAML(2AST) 3,500
== 1,050
Al 2,450
=Ab 2= Mel - 2el X 156,800 252,000 295,200
= 47,040




2N S2FHY
B E4 AW A5 U YA
Chol: EpH (Hol: &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 109,760
307 gl2tol & 156,800 252,000 A85,200
=S 47,040
Al 109,760
02 QB AANSEER 156,800 252,000 295,200
OEA 2 HMel - 2el X 156,800
< 47,040
Al 109,760
A= MNEs Hatdel N 20,000 23,180 A3,180
= 6,000
Al 14,000
402 212t X201 & 20,000 20,000 0
= 6,000
Al 14,000
02 QI XHE AL E R (01X THEH) 20,000 20,000 0
OFZNE= Hatxicl X 20,000
== 6,000
Al 14,000
R ae| 2,622,500 3,083,562 A461,062
= 951,656
Il 60,423
= 366,536
Al 1,243,885
IEYSESE NA 928,328 929,492 A1,164
= 450,413
S 107,536
Al 370,379
206 M=l 868,796 865,892 2,904
= 420,647
< 97,614
Al 360,535
01 MHZH| 868,796 865,892 2,904
OJtEgassE #atl 868,79%6
= 420,647
s 97,614
Al 350,535
307 212+01& 59,5632 63,600 4,068
= 29,766
=S 9,922
Al 19,844
02 QB HANEER 59,5632 63,600 4,068
OHHAl W sHal X 59,5632
= 29,766




SN SSHY
Hu: =M A

&2l g2l (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

< 9,922
Al 19,844

JEEA XI3AAMS 248,404 248,148 256
= 150,436
< 30,835
Al 67,133

206 MH=HI 57,178 49,928 7,250
= 38,039
== 6.206
Al 12,933

01 MHZHI 57,178 49,928 7,250
OTH A NS (ARL) 46,782
= 32,841
=S 4,647
Al 9,294
OF MY HAZSAEY A 23HH 10,3%
= 5,198
= 1,559
Al 3,639

301 22N 93,247 82,720 10,527
= 43,811
= 14,831
Al 34,605

14 0Bt 2a3 93,247 82,720 10,527
O ESAI=HI(505012t) 79,186
= 39,593
= 11,878
Al 27,715
O4 FHS sl 14,061
= 4,218
= 2,953
Al 6,890

307 @120l & 97,979 115,500 A17,521
= 68,586
= 9,798
Al 19,595

02 2IZHBYAIAE & 97,979 115,500 17,521
O Mg Al M= K& 97,979
= 68,586
= 9,798
Al 19,595

A BR4ctE 2 Z9E HE| 12,750 13,050 2300
= 3,825




2N S2FHY
B E4 AW A5 U IIEYAAL
el JtEsg e EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 2,550
Al 6,375
301 LBBNZ 12,750 13,050 A300
= 3,825
T 2,550
Al 6,375
14 J|Et2 43 12,750 13,050 A300
O Z8 L S24ety HAAE HEY| 12,750
= 3,825
T 2,550
Al 6,375
ShHtsIF YYo=t AX NJALY 52,000 40,000 12,000
| 26,000
T 7,800
Al 18,200
402 QI+ Xt=01H 52,000 40,000 12,000
| 26,000
& 7,800
Al 18,200
02 QIZEXH2 AL 2 X (01 & TH &) 52,000 40,000 12,000
OF4ts0F goEolmet XK 52,000
| 26,000
& 7,800
Al 18,200
X A24&8 NE K& 12,000 12,000 0
= 6,000
& 1,800
Al 4,200
307 212+01 A 12,000 12,000 0
= 6,000
= 1,800
Al 4,200
02 QIZHAAAIEER 12,000 12,000 0
O 2242 & XE XA 12,000
= 6,000
T 1,800
Al 4,200
NHRHCIAMNE S S 21,384 23,760 2,376
= 10,692
& 3,208
Al 7,484
201 Ler23H| 21,384 23,760 N2,376
= 10,692
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2N S2FHY
B E4 AW A5 U IIEYAAL
&2l JiEsggzel EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHAUZI| SSYHM XA 16,000
= 8,000
== 2,400
Al 5,600
Al AIZHFHEl X2 9,620 2,640 6,980
= 4,810
== 1,443
Al 3,367
301 22N = 9,620 2,640 6,980
= 4,810
= 1,443
Al 3,367
14 JIEt2a3 9,620 2,640 6,980
Al AIZTHFEI I 9,620
= 4,810
= 1,443
Al 3,367
Jl=sJt 2gael Xd 18,000 18,000 0
= 9,000
= 2,700
Al 6,300
307 gl2to| & 18,000 18,000 0
= 9,000
= 2,700
Al 6,300
02 2IZHBHAIHE £ 18,000 18,000 0
OJdtesJt 282 N& 18,000
= 9,000
== 2,700
Al 6,300
SH=z2 29 2 A=XE 2E A 126,200 126,200 0
= 63,100
Al 63,100
101 @12A4H| 123,200 73,200 50,000
= 61,600
Al 61,600
04 JIZtN2Z2XNSE+ 123,200 73,200 50,000
OsHz=A 28 ¥ A=HIE XJ(URY) 123,200
= 61,600
Al 61,600
201 er23| 3,000 33,000 230,000
= 1,500
Al 1,500




2N S2FHY
B E4 AW A5 U IIEYAAL
&2l JiEsggzel EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 3,000 3,000 0
OSHZA 2% U ASKY S (22
23) 3,000
= 1,500
Al 1,500
HELSAIE 2EXE 222,914 222,914 0
== 55,728
Al 167,186
101 e124d| 122,000 100,000 22,000
< 30,500
Al 91,500
M ORINZZ2NSE S 122,000 100,000 22,000
ONBASAIE 2N (2RY) 122,000
= 30,500
Al 91,500
201 ger=2 3| 72,000 42,000 30,000
=S 18,000
Al 54,000
01 AtR2t2|HI 70,000 40,000 30,000
ONBA=AE 2EXE(ASIIE) 70,000
< 17,500
Al 52,500
02 S5=2g4l 2,000 2,000 0
ONBASAE 2N (3323) 2,000
= 500
Al 1,500
206 M=l 28,914 80,914 /52,000
s 7,228
Al 21,686
01 M= Hl 28,914 80,914 /52,000
ONBA=AE 2 (HHSS) 28,914
[ 7,228
Al 21,686
ZEASSIH HASHH X 4,400 4,400 0
= 1,300
Al 3,100
307 el2to| & 4,400 4,400 0
= 1,300
Al 3,100
02 QIHEHAIEE X 4,400 4,400 0
OZEAMEsIH HES2HM K& 4,400
== 1,300
Al 3,100




2N S2FHY
B E4 AW A5 U IIEYAAL
el JIEg g2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AX2EY= 125,000 200,000 AT75,000
= 100,000
== 12,500
Al 12,500
301 2eEN= 125,000 200,000 AT75,000
= 100,000
=S 12,500
Al 12,500
14 0Bt 2as 125,000 200,000 AT75,000
oI5 X2 2d= K& 125,000
= 100,000
= 12,500
Al 12,500
JIEHEY og =4 27,300 32,200 A4,900
201 et 3| 17,500 20,000 2,500
01 At22t2l] 10,400 12,900 22,500
O&x2 Ji= ¢g Hel 3,600
OJE2g g9x=a 2,200
OJI=28 goyad 29 4,600
02 S3=gHl 7,100 7,100 0
ONBLSAE S oo, HEESEH| 3,100
OJt=gaxtg szl 4,000
202 04| 5,000 6,200 1,200
01 =LHO LI 5,000 6,200 21,200
OS2 2= 5,000
301 EtE N = 4,800 6,000 21,200
14 IIEt2 83 4,800 6,000 1,200
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101 @124H| 211,680 211,248 432
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O2UAEXNE 2l X HIEXRE 211,680
201 Ler=23 | 74,000 67,000 7,000
01 At2teltl 24,000 30,000 26,000
OgUsIIA A28l 28Rl S 24,000
02 S3=gHl 50,000 37,000 13,000
OSUsIIAH 20, AMEEH |RX S 50,000
206 M=l 90,000 120,000 /30,000
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OsJIH 224 2FENE & 727 90,000
405 AHaHE = 34,500 32,000 2,500
01 ML ESF SHI 34,500 32,000 2,500
OsJIHSUAIE A 28 7Y 34,500
AEALIH HAFS WS 8,000 10,000 /2,000
301 EtE NS 8,000 10,000 /2,000
14 0Bt 243 8,000 10,000 22,000
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A 8,000
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SIIAHXZAMS 131,252 134,000 N2,748
= 38,176
Al 93,076
202 04l 4,000 5,000 21,000
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201 fer23| 4,000 5,000 21,000
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OFis7#E SUHIt €52 8,000
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= 16,200
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OHsHE 245 2R 2 32,400
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Al 2,940
11 #AIMHIXIZE S 5,880 5,880 0
OZAIL WS & o4 28 UHE Y| 1,800
= 900
Al 900
O?=s Mgs=ty S0k Al 4,080
< 2,040
Al 2,040
307 lztol & 19,100 23,100 24,000
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